SN =gl

e == [y [und

M NASSHAS |4 HE(s8ddd/s - 58)
el USE RSN diEg

2 & M

A

SN EB -GS - MBAY - BES 0 & 24 e HRE2
sxA el 1,884,487 1,954,603 AT70,116
= 227,372
= 1,657,115
NASHES 4 HL(sLHL /5 - 5&) 733,759 719,177 14,582
= 207,372
= 506,387
DEX SYSN MM2Z 733,759 719,177 14,582
= 227,372
= 506,387
AT AR T 261,349 256,836 4,513
101 o124 53,529 51,242 2,287
10 JIAR2ZRSE4 53,529 51,242 2,287
BEE=E-p PN 47,522
OFM, 2ES(55) 33,8509 *556a+2. 2% 47,522
WEIRNL] 713
IR 5,294
201 Yer2gy| 40,600 36,800 3,800
01 ARl 1,000 1,000 0
O =l 1,000
OBE2RNTY S 10,0002 * 102 *13] 1,000
02 =2z 39,600 35,800 3,800
mEEE] 12,700
odzgal 12,700
CIAl & ZHIR A 18,200
OsJIAREH 15,200
Os I 420 3,000
CIxtg s et 8,700
OHALS KX I 8,700
202 OfHl 21,000 21,000 0
01 =LHoi 21,000 21,000 0
S AYRER Y| 21,000
203 YRFAY| 5,000 5,000 0




2N SRz
Mol NASSHS S48 HL(STHYHM/5 - 52)
o9 DEX LYSN MAEZ (5l &2
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
03 AEFZ ALY 5,000 5,000 0
mEBES PN LS 5,000
207 eIl 29,120 26,314 2,806
03 A&7 29,120 26,314 2,806
D&M, G2 (55)ASHATTH 7L
20,0002 *556a 11,120
DESHSHLRIIZHETY
4,0002! *4,500% 18,000
307 QI2t0IF 9,100 8,700 400
NEEEEET] 1,100 700 400
OZEZILTAZAE 1,100
05 BIRSIED 8,000 8,000 0
mEPE=T 8,000
401 ASHILLHY 77,000 73,380 3,620
01 Al&H] 77,000 73,380 3,620
OENH2AZDEAL DA
1,500,000 *4JH 2 6,000
OS2 2EDXERA 62,5002 %560 35,000
mEEPITEES] 20,000
Dol SaH Al & x| 8,000, 0002 *2JH 2 16,000
405 THeHE S| 26,000 34,400 8,400
01 KHNLSEHSH] 26,000 34,400 8,400
OS2I 47 (RH) 26,000
OEE=5] 4,000,000 *1CH 4,000
001g] 22,000,0002 *1CH 22,000
2 SaBMMET 245,033 231,930 13, 108
101 Q12| 128,383 118,607 9,776
S EENEEES 128,383 118,607 9,776
WEDFILIETT 113,976
oHEzE 38,8502 +2,090a* 1. 1% 89,317
OBM22E 38,8502 *141ax1. 1% 6,026
OEZsME 38,8502 *436a*1. 1% 18,633
mEIRNE 1,710




2N sgHA A
HH: NSNS B4 HL (WYL /5 - 5&)
Cel: DEX SUEX MM (9l &2
Ao+ BB . Sl (3H]) ey - By Ao gggf; HRS2
428 = 12,697
201 LErEIH| 20,300 18,900 1,400
01 ArR2t2|tl 900 900 0
Do =yl 900
O &EZ2NEE = 100,000& »9H 13 900
02 3294l 19,400 18,000 1,400
A& &HI S Xl 12,900
OsJIAHSEU 10,900
OsJlAH=clth 2,000
OIXt s ety| 6,500
O 2x& = Xl 6,500
202 O4Hl 15,000 18,000 A 3,000
01 =2ZWoib] 15,000 18,000 A 3,000
0232, 3ATHMAR 15,000
207 HAFRINEHI 75,855 70,723 5,132
03 A& AHAH| 75,855 70,723 5,132
O SSSAMATTH 2L 75,855
OHEZ=S 23,500& *2,090a 49,115
OEMESS 20,000& *x141a 2,820
OEZSsHE 20,000& *436a 8,720
OELINSH L=
4,000& *3,800% 15,200
307 QIZ2+tol A 5,500 5,700 A 200
01 =L R H| 500 500 0
OZ&QIRERAZAE 500
05 oIzt ez 5,000 5,200 A 200
OAE249H| 5,000
ATUBZTMAMK P 227,372 230,411 £3,039
= 227,372
101 oAb 222,000 222,000 0
= 222,000
10 JIZHZ2=XNEES 222,000 222,000 0




SN seTEeld
Hy: (ASHNS B4 HL(SHSLL/5Y - 5&)
S DEX STER MAEI (et9l: &2
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 e HRs2
EEEEEEY T 222,000
= 222,000
207  SHAFOHEH 5,372 8,411 3,039
= 5,372
03 AlIE& | 5,372 8,411 3,039
BERCEEEP OB EETT 5,372
= 5,372
HY2IHH (S RAZEA)(IIEH/IIEH 1,150,728 1,235,426 A 84,698
QA2 A 1,064,138 1,146,176 A 82,038
23l 1,064,138 1,146,176 A 82,038
101 el H] 1,002,658 1,084,096 A81,438
01 =3 498,892 542,274 A43,382
E=S= 460,515
042 (95 8) 3,235,600 x1H x 123 38,828
062 (302 E) 2,576,200& x2H 123 61,829
o716z 8) 1,907, 1003 » 1H x 123 22,886
0og=(753) 1,273,500 x1Z « 123 15,282
OHF2(3053) 4,021,200« 1Hx12& 48,255
OS¢ A (255 8) 2,412,700 x3E 123 86,858
OJls8=(2388) 1,948,900 x7H x 12 163,708
0J1592(452) 973, 9002 12+ 122 11,687
OJls102(588) 931,800 1 x12& 11,182
Oa0i2 38,377
O&2=+¢ 460,515,000& *1/12 38,377
0 &g 107,686 127,384 ~19,698
Oz R4 44,885
ONERRag 44,885
-FHE 8,312& x18H «10A| 2+ 123 17,954
-E=UE 8,312 x 18 *15A| 2+« 1228 26,931
IESLES=, 62,801
OJtE=g 15,078
- <Xt 40,000 * 18 +0.78+ 122 6,740




SN
X XH .
(=

chel:

i2ZZHl (s X222
[=Xet|
—_ o

)(IIEH/DIEL)

_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
- BetE 20,0002 x18%H 1,48+ 122 6,394
-Z0E 30,0002 x 18 0. 30+ 122 1,944
OXHsSHHI &g 5,249
- =5t 51,4002 x18H *0. 19%43 704
-nssh 420,790 x 18 %0 . 15%4 3] 4,545
OFIZLYIAS 21,480
- 250l & 130,000 4% « 128 6,240
- 201 0| Af~25H 0] BF
110,000 »8H x 122 10,560
- 15 0] &f~20= 0] Bt 80,0002 x3H » 122 2,880
- 50| A~10 0| 8¢ 50,0002 *3& »12& 1,800
ofgzesrd 1,440
-2= 40,0002 «3H *12& 1,440
ORERxY 8,019
-63(3082)
2,576,20094 x 1 *4.8/100% 12& 1,484
- A (25 E)
2,412,700 x32 x4 .8/100% 12 4,170
-Jls83 (275 2)
2,052,800 x22H x4 .8/100+ 122 2,365
oa|gRaL
3,235,600 12 %9/100% 12 3,495
Ollsg s 1,560
-43 50,0002 x 1 » 122 600
-6~72 30,000 «2H « 122 720
-83 20,0002 x 1 =122 240
OJlegeLgitaa 30,000 «2H 122 720
O RARLE 80,0002 x4 H 122 3,840
OS2Iy geL
40,0002 *4H 122 1,920
03 HAUZAH| 28,080 29,640 A1,560
O™ M ZAH| 130,000 18 » 122 28,080
04 WEBXH 27,120 28,560 A1,440
04~52 140,000 x2H « 122 3,360
e~7= 130,000 x6%H « 122 9,360




SN s
MM HMSAAH (SLTAZIR) (JIEHIIE)
o2y

chol: o2l 2ot (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
[18=0lat 120,000 *10H * 123 14,400
05 ZEFIHI 46,052 50,030 AN3,978
OYE S0l 460,515,000 *1.2/12 46,052
06 JHAHIXI&HI 76,753 83,383 A6,630
CIJHAIRI & I 460,515,000 *2/12 76,753
07 SItE 4| 24,305 26,237 A 1,932
LIS &k 460,515,000 /12%1/30% 19 24,305
09 RIAHAZZXNE= 193,770 196,588 N2,818
s 102,317
OsJIH2d& 51,7703 x7H 2552 92,410
OxZZHA 38,850 »1H x2552d 9,907
&= 34,107
OsJIAH2E 92,410,000 *1/3 30,804
OxZZHA 9,907,000&%1/3 3,303
Oxs=¢ 20,866
OsJlHA=2HE 51,7703 7B 52 18,845
OXHZHI& 38,850 13 x525= 2,021
O Xt 8,427
OsJIH2HEE 51,7703 »7H 21 7,611
OxZZHA 38,850 x1H»21 816
OAIZte 22 4,077
OsJIH28&
51,7702 %1.5/8+7H 2 Al 2t+30L 4,077
WESTE= 5,436
OsIIH2E 51,7702 %1, 5+7% 102 5,436
bl 70,0003 x3F x2 x102] 4,200
Lol =tl 100,000& »8H x 13| 800
[J2FATH| 1,200
O AXIZ I 1,000
42 = 11,340
203 YRFL&Y| 13,060 12,760 300
01 JI22ggRFL8Y| 3,300 3,000 300




SN
X XH .
(=

chel:

sg A2
HH2IZH (s 2el>)(IIEH/IIE
el =

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
& & 3,300
02 HAINMHRFLEI 760 760 0
O JAAD & & Z Y 40,0003 19 760
04 RBEN2IYRFLAYI 9,000 9,000 0
(1150l ot 250,000& *3M 2 M*12& 9,000
204 XA 47,460 49,320 A 1,860
01 HéSHARAHZAH 6,600 6,600 0
O 400,0003 x1H » 122 4,800
O2&% 150,000 *1H x 122 1,800
02 HsE22l 31,260 32,520 A 1,260
4= 400,000& 1Z«12& 4,800
o 72 250,000& 1H 123 3,000
6=, A P2A 155,000& *5H 12 9,300
7= 140,000& 1H =123 1,680
8= (J1s8-93) 105,000& *9H » 12& 11,340
21s102 95,000 x1H»12& 1,140
03 SR =4 9,600 10,200 A600
CcHel g =l 50,0003 x16H x12& 9,600
303 EA3 960 0 960
01 Za3 960 0 960
OZgsotE2Ess4 80,0003 x1H«12& 960
=2l 86,590 89,250 A2,660
Jle=3| 86,590 89,250 2,660
201 Let3| 78,690 71,900 6,790
01 At 2eldl 49,090 42,300 6,790
O et=ZH| 43,590
OJl=MeRESTY 2,000
OHIBFEWNZENASES
200,000& * 123 2,400
ORoZHIANAEOIES
165,000 *30 A =12 5,940
OLBAALETHE A SOl 2,000
ODSEZREHRS 2,000




2 sexBR
HH: #MSAAH (SAX22I))(OIEHIIE)
ool D] =AY L
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
oY==yl 29,250
- x| 50,0002 374 A+ 110 16,500
- =x| 50,0002! *37} A %85 12,750
mEE] 5,500
OHBMAAD T ZAY| 5,500
02 =229l 29,600 29,600 0
OZZR22MAl 27,600
OFJIYMIRERER2
2,000,0002!* 122 24,000
OMst+ER 300,0002 * 122 3,600
A& = HI X I 2,000
OAMRIINRX &2 2,000
405 XarE SH| 7,900 10,750 A2,850
01 RALSEZF = 7.900 10,750 A2,850
O SUSEF S| 7,900
OPCTR Y 1,450,0002! *2CH 2,900
OfloINZRIE 1,500,0002 *1CH 1,500
OCIXI g 3to 2t 500,0002 *1CH 500
OmAIY2| 1,000,000 *1CH 1,000
OWxD 1,000, 0002 *2CH 2,000




